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Questionl:-Consider the following statements about cold war and arrange it in
chronological order.

(i) The Marshall plan

(i) The Cominform

(iii) The Truman Doctrine

(iv) The Berlin Blockade and airlift

WBlOQRLECOERCYSBS VOO JTRIAUMBU alBlNTa] BHoIGACITE & HElES |
(i) 20Bau@d qoad

(i) emodlodeando

(iii) @0 milevommoe

(iv) emidelm aleeawaje CAINAIGAMAO0

A:-(i), (i), (iii), (iv)
(i), (i), (iii), (iv)
B:-(i), (ii), (iv), (iii)
(i), (ii), (iv), (iii)
C:-(iii), (i), (iv), (i)
(iii), (i), (iv), (ii)
D:-(iii), (i), (ii), (iv)
(iii), (i), (ii), (iv)
Correct Answer:- Option-D

Question2:-Consider the following statements about Mughal painting. Which of the
following is/are correct?
(i) Under Akbar, European painting was introduced at the court by the
portuguese priests.
(i)  The book Akbar Nama was used for illustrating.
(iii)  Portrait printing was not encouraged.
(iv) The Mughal painting got great patronage under Aurangazeb.
BB 2l@BLIOQH:OYSS ®OEPORQRAN JARIAUMBUB alBlNMIERS:. ®IOLOQYMAUVIB ag@o6m
w@l?
(i) @roMCIMBe0 B, 6a0@ 9l aJeEACIM@OGIET QEOAl™
6alQIMCletY OEIZ0EOBIGE GRAIMGla]l 40y
(i)  al@leeemaoimow] @REEMIB MIB agM ajTyde Dale@IUlls)
(iii)  candesIy IByY eejommoadaflsiammiy
(iv)  @m0snmilnimen Sl¥led ged @i anlw eeooroanmo VY



A:-(i) and (iii)
(i), (iii)
B:-(i) and (iv)
(i), (iv)
C:-(ii) and (iii)
(i), (iii)
D:-(i) and (ii)
(i), (ii)
Correct Answer:- Option-D

Question3:-Consider the following authors and their works. Which of the following
option is correctly matched?

Author Books
(a) C.V. Raman Pillai (i) Malaya Vilasam
(b) K.M. Panikkar (i1) Premamritam
(c) A.R. Raja Raja Varma (iii) Parankipatayali
(d) Kesava Dev (iv) Odayil Ninnu

@IOPOQAN af) gTOEHIOOQe GRAUMBES T HOSQo alBlNEMIERD. @IOPaOQAN BalaURBHE!TE aG@o6e
AW HADBOMO SN ?

@allmoal oM H6BBUD
(a) adl.all. eoamalss (i) oeiaflenae
(b) 6. af)o. alemlend (ii) GJ2gDo
(c) ag). @B, BIWPILAURMN (iit) alo®lajs@e]
(d) CHUWAICRAT (iv) 80sl@d mlan

A:-(a)-(iii), (b)-(i), (c)-(ii), (d)-(iv)
(a)-(iii), (b)-(i), (c)-(ii), (d)-(iv)

B:-(a)-(ii), (b)-(iii), (c)-(i), (d)-(iv)
(a)-(ii), (b)-(iii), (c)-(i), (d)-(iv)

C:-(a)-(iii), (b)-(ii), (c)-(i), (d)-(iv)
(a)-(iii), (b)-(ii), (c)-(i), (d)-(iv)

D:-(a)-(iv), (b)-(iii), (c)-(ii), (d)-(i)
(a)-(iv), (b)-(iii), (c)-(ii), (d)-(i)

Correct Answer:- Option-B

Question4:-Consider the following subsidiary agencies of UNO and their head
quaters. Which of the following option is properly matched?

UN Agencies Head quarters
(a) UNESCO (i) Rome
(b) UNICEF (ii)  Washington, DC
(c) FAO (iii)  New York City
(d) IMF (iv)  Paris

QafBEQYES @IOP|OQMN GRIENITW aBRMIVIHO8WQe GRAIQES HaNW d&IIBSQHOBQ0 al@lNETERd:.
®IOP|OQIMMN B0ala UGBS BT VAIWIV OABOTEAISINT?

QB aBLBMBIVlBU3 @RYMVNIMo
(a) QMEPO (i) o2
(b) QOIBTVAs (1)  oallotysemd cuslandl
(c) af)abag)6s (iii) mewades mild]
(d) ®af)afoag)ad (iv) asn@my



A:-(a)-(ii), (b)-(i), (c)-
(a)-(ii), (b)-(i), (c)-(iv), (d)-
)-

)
i)
B:-(a)-(iv), (b)-(i), (c)-(ii), (d)-(iii)
(a)-(iv), (b)-(i), (c)-(ii), (d)-(iii)

C:-(a)-(iv), (b)-(iii), (c)-(i), (d)-(ii)
(a)-(iv), (b)-(iii), (c)-(i), (d)-(ii)

D:-(a)-(iii), (b)-(ii), (c)-(iv), (d)-(i)
(a)-(iii), (b)-(ii), (c)-(iv), (d)-(i)

Correct Answer:- Option-C

(iv), (d)-(iii)
(ii

Question5:-Consider the following statements about Famines in British India. Which
of the following statements are correct?
(i) Lord Lytton appointed Sir Richard Strachey Commission.
(ii)  Mac Donnell Commission was appointed by Lord Ripon.
(iii)  Sir George Campbell was appointed to study about the Orissa Famine of 1866.
sl soamyileel oemoe)mmo'lgdgg @MIQUIMBUB alBlNETERE:. @O0 (JTYIAUMHEI3
aR@96M @17
(1) eendaw elgem cud dlajdauy myos]l odlauem aloaly
(i) eciodaw Glojend Mo EAWEM@D @ adflate ™M oy
(iii) 1866-62! adl0v @s0060mERCa] alClenom MA@ e20ded Bicesmnigflom
aﬂ@m’]_f%.

A:-(i) and (ii)
(1), (ii)

B:-(ii) and (iii)
(ii), (iii)

C:-(i) and (iii)
(1), (iii)

D:-All the above

GAMAOETQUSHWEJo
Correct Answer:- Option-C

Question6:-Consider the following facts about Indian freedom movement and
arrange them chronologically.

(i)  Cripps Mission

(ii) The August Offer

(iii) The Cabinet Mission

(iv) Wavell plan

DB MLDOADYTVOIMOODESC B8 @IOPaJOQM QUTRO B0 al@lN6Mla] @RAIOX BHILIGDTOHITD
SN&ClEsH :

(1)  @lg] dllowad

(i)  ®01aY BoanAd

(iii)  @oenimg’ allauad

(iv) e qjoad

A:-(i), (ii), (iii), (iv)
(i), (i), (iii), (iv)

B:-(ii), (i), (iv), (iii)
(i), (i), (iv), (iii)



C:-(i), (ii), (iv), (iii)
(i), (ii), (iv), (iii)
D:-(ii), (i), (iii), (iv)
(i), (i), (iii), (iv)
Correct Answer:- Option-B

Question7:-Kettu Kazcha or Kuthirakettu is an important festivity associated with
temple festivals in the Quilon and Alleppy Districts is related to

OB08o, @RAIQJ? dlojdslonl CHME@ITTLAIAD MIMWeA]S B@ WIM OBTLAIAET OBGHHOY
@RELIBIC B@IEOH:S. OO @0 ENITWOS®OET.

A:-Buddhism
6NJRLAM

B:-Jainism
6)6)BMAMDo

C:-Both Buddhism and Jainism
ENIELAM QYo OOWVMAMQYo ©6NZo

D:-Hinduism
a0lRAo

Correct Answer:- Option-A

Question8:-Who realised that 'Britian's' difficulty was India's opportunity?
EfISloy@0@mes MYEUIPS HAMQYSS @BAITLEAISEMM @REIET AMMleNES I ?

A:-Bala Gangadhar Tilak

ENIDRINNIW® DIRlds

B:-Bhagat Singh

BU® MUl

C:-Chandrasekhar Azad

2l(BEUEIMB @RYMLIE

D:-Subhash Chandra Bose
MYRIY al(@3 GENIOMY

Correct Answer:- Option-D

Question9:-Which of the following is French intelligence agency?
®IOP|OQMTIDB aBDOEN (ORI @aOMVIOEMIAHE aRRMM]?

A:-DGSE
awl=lagorven
B:-CIRO
mleag)@R)d6
C:-Ml6
af)o6ag)d
D:-CSIS
lag)oruBag)agany’
Correct Answer:- Option-A

Question10:-Which of the following country developed a self defence system called
'‘Krav Maga' for defence forces?



@OEEIW EMLAIMEERU3ERIW '@oal @1 agom MLIREEIEEIW MVAlWIMe Alle:mJlalle.4igo™m I
a@®o6rm’?

A:-USA
Qag)MJag)

B:-Japan
garkjocra

C:-China

6)6)21M

D:-lIsrael
EDAYICW@D

Correct Answer:- Option-D

Questionl1:-A climatologist observes that the vertical temperature profile of the
atmosphere in a particular region shows an inversion layer near the surface. This
phenomenon is most likely to result in which of the following environmental
impacts?

B (JCDH JEBUHDD @RAMGIBHOMINBOO LlotN! MIaIMIR! HEJIOHANT DalBlIMRICHIMSTOSS 633
Qlla@l® alog] H06MIEBIMOAUM BT EBHILIDAITVOI WITYDETM MIdlewleamo. v oM.
®I6Pa|OQMAURI® o@@IRI6M a@QQ)e BSOD alo@dlrudldile: @RRIMEBRUES BOPEMAIBMN@?

A:-Enhanced dispersion of air pollutants due to increased convective uplift
MoQUADM DDA 5] AUBRUlYIIMI@ Q1 aelmle:eem QUMYHBSOS QMo Qidavly

B:-Reduced visibility and increased smog formation due to trapped pollutants
202lMyEBRU3 @RSIIIMYEBSM@ Gelo GUBLIRDQL aldRMIME0 @alle:eema aidrUlesMo

C:-Intensified cyclonic activity caused by rapid adiabatic cooling
Goundidiaes @olengle; @EMallerdd GRIgenEos:an @I 49eilerdy’ @IBOmMo

D:-Higher rates of evaporation from surface water bodies due to elevated
temperatures
QA @Ialmlal $:06Me Daldlmeal BeWEREled Mlames enadle:eem dleds AdrUlesMo

Correct Answer:- Option-B

Questionl2:-The formation of Hogenakkal falls on the Kaveri River is primarily the
result of :
$06QIEl MA@ Ha0IBNMENE HASB 5050 (BAIOAIFIND (JWIMAIQ. DAIQYSS aNAIAIE !

A:-Headward erosion by a tributary cutting across soft alluvial deposits
23 @RRJAIWE MEH:IERUIED G:QEG: BT GaldaddMEIYES CRIKIPIW aeepIaial

B:-The Kaveri River Plunging over a landscape of resistant granite rocks in the
Dharmapuri plateau region
WAyl aflo@dlwilenl @oileeowew-Hlyss WIBEMY ald0B:EeS BM BJHOWIG B»oead mdE
al®lesmo

C:-Tectonic uplift creating a fault scarp over which the river descends
MGl ©@ELHI0ERIMTIM gMI B@ Eandudg MOBa] TYUHBM SSEZETIH DWA 4

D:-Coastal erosion shaping the river's estuarine delta before it enters the Bay
of Bengal
NI OUBESIM (JeuuwslesmM@Im gl mElges ng)crogmma'laa HAWBOW ([Bale)n TN @EEEUD

aeemoaila]
Correct Answer:- Option-B



Questionl13:-The persistence of hyper-arid conditions in the Sahara Desert can be
best explained by which combination of geographical factors?

Man00 a@@Edleflear GR@lEm2IQ aeeNE @PAMAReS Tlaimlaafem @aluwdmyaeEI® G
CQISHEEBBOS MoEIRMODIYESWIET aBQ0je MMIX] alluodle:@lenomd HAQS?

A:-Location in the sub-tropical high-pressure belt, cold ocean currents nearby
and rain-shadow effect of surrounding mountains
DalDHER6IRI DA adG caaeITleal MNdM., MVElITDSS @EMOM TVLYEG (JAUAOEEBRU3, QR8s
ol R8s 2eMI@ (@JBII

B:-Equatorial low-pressure dominance, warm ocean currents and dense
vegetation cover
BRWLCEEI0 ®IL ARG ERWlnI®, 4J$BS MVYB @AUOANEERUT, IOSTBAAM TVLAVYWINIBBRUY

C:-Mid-latitude westerlies, fertile loess soils and presence of perennial rivers
DWY-@REHIUD alSIEIIMIOM @JEBUBEBRUY, aNRIGWlYR0W ERIOMY A6, AIQIED MEGEeS MOMTlW}e

D:-Subpolar low-pressure belt, permafrost conditions and glaciation
Dol ®Ig A3 Ca6ILl, HalBROCEIINY @OAMIAGE. alladle:ao

Correct Answer:- Option-A

Question14:-The concentration of jute cultivation in the Ganga-Brahmaputra delta
region is primarily due to which combination of factors?

Do)~ (EI0Na)(@ HABIQ CGAIAIIOAI al6Moe &HUQES TVIM® JWIMAIQo AR CRISHHEBRBOS
MVeCIWMAEM?

A:-Sandy soils, dry winter climate and low population density
26M@3 MIO6T mqﬂp", QIE6ITE £)6)UO M EHhIR! HIAI0QUMVA, 0610 LMAVLI3®

B:-Fertile alluvial soils, high temperature with good rainfall and availability of
cheap labour
a021EWY20W af)EH@REN, WA @IIMIRIQe Me] 290 allal &:06Mm E®IFRNEBEeS LIRKOQ0

C:-Laterite soils, moderate rainfall and mechanized farming
2109660g" agD, AMaI® AW WEDAUMRH® &aHlQo

D:-Black cotton soils, irrigation facilities and proximity to textile industries
HQOD OB A6, WRIETV.AIM TVDBEEBG. @M AUQITVIWEBEES TVIRlalio

Correct Answer:- Option-B

Questionl15:-The black sand deposits along the Kerala coast, particularly in Kollam
and Alappuzha districts are economically significant mainly because they contain :
BHEBOMIMHO @O, ICMYB]a] 6080, @Ralqfe dlojoglonl &HEIneMd MIEHUIEBRU3 TLOMIGTNBHA0W]
(@OWIMPBBAUIEM, EHO6Mo @O @nseeRlolclesmo.

A:-High-grade iron ore used in steel production
OME DM IIBMOTIT DalCWIWIEBMM OWABMM LW SD@MINIIE

B:-Coal seams suitable for thermal power generation
®IaIOOAUBYD D@ jOBMADBIM GRMEWIBAIW BMEHE! MilestinlmERud

C:-Natural gas reserves trapped in coastal sediments
©EGEUD @ROIUEIYERESIEd &SEEEIERISERMM G QM E:EUBEI@.

D:-Rare earth elements and heavy minerals like ilmenite, monazite and rutile
@PadBQ @al RLIB6BBSo O@REOOMY, GAIGEMIOOTVY QOOFE DSEHEI® 1M WIDEBo

Correct Answer:- Option-D



Question16:-Which of the following developments best exemplifies Tamil Nadu's
strategic shift toward high-tech and export-oriented industrialization?

66a06)SHs, oe:@ggm«sﬂ @U@ QIIMOQAIGHEMOTERIERSs @AlLISIBE0 ®DaICAIW AOQODITY
aBQQ)e @l 5] HBIANPEMo MIOL]OQMN MVecAINGITVERE] S aR@®06m7?

A:-Expansion of Al-powered waste management systems in Madurai
20e@I@ Al-0l@ jadomlesm acelmy mueayesm musallwomesnges allgelle:esme

B:-Subsidies and shared infrastructure for chip design firms under the
Semiconductor Mission 2030
eaualeemeed dlamd 2030 @000 alla] alleoemuad cmundaimeEsudesss quenimilaslo alglg @oslmunom
MUDBEYo

C:-Deployment of pumped-storage hydroelectric projects for renewable energy
generation
M@l OVRDE O@OBMOBIMIW almi-EocHes 2RIOEAUBYD meu@"loe;gas allmgamooe

D:-Beautification drives in city hotspots under civic cleanliness initiatives
alME WAl MV.EERUILS BIFITE MUNEOMINA! (JWIM MLORIERSITE MUDMBEIUTIEEEM (JQIBODMEBRUY

Correct Answer:- Option-B

Question17:-Which Five Year Plan was launched immediately after the two
consecutive Annual Plans (1990-92)7?

@SB WOW E6ME QIBalld: alrL@G:udEs (1990-92) ©@5aflmoeel @RYE.Ely AlfRICICTVE IRV
AR@6M?

A:-Sixth Plan

@R)0%0 alRL®)

B:-Seventh Plan
a0 alRLO)

C:-Eighth Plan

af)S% alcLo

D:-Ninth Plan

BMIMo alELO)
Correct Answer:- Option-C

Question18:-In the context of the Indian economy, potential GDP refers to :
OAMMB TLMIG QAUQINVAQOS AIUDUITDRICBID, BaldSMBaUI@ Hlawlall agND®EE:06ME
@RANAIEBMNED !

A:-India's highest GDP ever recorded
M@ PDAHEQRSBB@I@OAUS] afQQ)e KA edflawlall

B:-Maximum sustainable output without causing inflationary pressure
alfMeq]@a| TUMABGe DENBILIOD aleANIW]l MYILAle O@IaljoBMo.

C:-GDP at current market prices
mlainieeal allalem] alleissleoal glowlail

D:-GDP at base-year prices

@pslnuNom ad« alleissieal elaulall
Correct Answer:- Option-B

Question19:-Under the NITI Aayog's mandate, which of the following functions is
beyond its official scope?



Mol erewIrldeo aomeadlm &IFes, @e9aloQM AIBOMMEEBEIT cF@IEM GRGIMOO BDERPUTS
alAWIES oJODEs®?

A:-Acting as a knowledge and innovation hub for policy-making
MR@leeemomlngs 6@ allmemom-malle:eem e @aRl] aIdowlendd

B:-Providing grants-in-aid directly to State Governments
MVEMLOIM MVBENIBHUIE BMAIS (VIMQE:UE MBI

C:-Designing strategic and long-term policy frameworks
Ol Gl@CAIR0RINAMIW MW 2ISEBSHUB ([GaldalM 6.21Q)M3

D:-Monitoring and evaluating the implementation of government programmes
MABEHIB al@lalosleges Mmsol] mldledess Qe alelmEwee 6.1

Correct Answer:- Option-B

Question20:-Arrange the following agricultural policy milestones in India in their
correct chronological sequence :
A. Introduction of the Intensive Agricultural District Programme (IADP) under the

Community Development framework
B. Launch of the High-Yielding Variety Programme (HYVP) under the Green
Revolution
C. Formation of the Food Corporation of India (FCI) for procurement and
distribution.
D. Commencement of Operation Flood Phase-I for dairy development.
IO MIOY A lOQMN HIBHEB: M@ mo@l@mes)g_lg(ﬁ:@g @IS VEIWIV BILIGAOHIBD (G BICIEBS> -

A. @;amgm’lg’l alleaom aiggsslay’ S1¥led @@ &odale: el al@laloslyes
(IADP) @roygévo
B. a0@l® allgjaiomlm &l¢lod @dm algal m@e:m eeaiallwy al@lansiges
(HYVP) crvmoeoee
C. MNe@eROMIMe QlMEEMEDIMAW] agaly eS0Ba]e0ntm 60ad soamy (FCI)
@afleeemo
D. sdlealerumEImIQSs 890je0aHM agow’ Ganmi-l @eo @R e.e.
A:-A-C-B-D
A-C-B-D
B:-C-A-B-D
C-A-B-D
C:-A-B-C-D
A-B-C-D
D:-C-B-A-D
C-B-A-D

Correct Answer:- Option-A

Question21:-Which of the following statements about India‘'s mineral imports is
correct?
HIMQYOS WID @om«sﬂ@@m(ﬂ%gg @IOPOQAM JTVIQUNHEIT oGO’ w@?

A:-India is self-sufficient in coking coal, so it does not import it
DY EBHIHBNot) HOBLHAWIE TLIWonl@§IRIEM, @RMIMIT @O DOMBADH 6aiQaTiey

B:-Bauxite is the largest imported non-ferrous metal ore
ORI ©21QAN aBQ0 AURIW EMINB-6a00MY’ €RI0a0 @RWIEIET CNIEOET



C:-India's uranium imports have been declining every year since 2018
2018 go@d wmyes Qeomlws DoEBATH afajo QB B:ODTRPAUBE:Q06TY

D:-Gold accounts for a major share of India's mineral import bill by value
OADIYSS WID DOLBAM nllafldeo geale @RMIVElL] MUIBERETIMEO GRS &gmeale

Correct Answer:- Option-D

Question22:-In India, which state reported the highest GST revenue collection in
2024-257?
spaoyi@d, 2024-25 @ a@gaje @s@d GST aimaome eMSI@ VMNIMe o@™IET?

A:-Karnataka
@9(369805:93

B:-Tamil Nadu
@algos’

C:-Maharashtra
000(600%

D:-Gujarat

DOLOIOOY
Correct Answer:- Option-C

Question23:-Which of the following does not fall under Article 51A of the
Constitution's list of fundamental duties?
l. To abide by the constitution and respect its ideals.
Il.  To defend the country and render national service when called upon to do so.
lll.  To work for the moral upliftment of the weaker sections of society.
IV. To preserve the rich heritage of our composite culture.
BEEMQISMYBS @OSITLOIM &HSAHBOS algleelenl @rdsleslud 510§ @@B ©aISoOm@® a@@osm?
l. REEMALISM @RMRMVRIEBG Qo @RBIMEHO @YRAUEEROS ENIADMIMIEBEHWQYo
G)QJQ%)@:
Il. eImEOm MV.eeMERSQ) @RNINIESEMIIUS cRUSIw
BaVAIMo M@B:HQo 6).2IQYd
. augeoamiear gdenier allronenges wodale: @mMamoBmow]
QQIBODEBH
V. moges qu.e@omgle meoeaml@en mumimad® 86 al@d:e Me@EHIERE:

A:-l and Il only
[, Il @0@o

B:-1ll and IV only
1, IV 20@o

C:-1ll only
l @a0@o

D:-1 and IV only
[, IV oo@o

Correct Answer:- Option-C

Question24:-The constitution assigns obligation for the enforcement of Fundamental
Rights.

l. Exclusively with the Supreme Court.

Il.  Both with the High Courts and the Supreme Court.

lll.  Administrative Tribunals in the country.



IV.  None of the above.

202l8:0018:00068808 MSafeEBM@Itess nIoW® cEeMaISMEI®S iletdqaosry
. mefbesrsolaow] ao@o

II.  eeanemIsElQmoQ Myaflesosolgnog.

. eomeom @ocylmlemydial OOSENIEMEEUS

V. eamdqjosmmaewomoas

A:-l only
| 20@o

B:-Il only
Il @0@o

C:-1, Iland I
L, 11, 11

D:-IV only
IV 20@o

Correct Answer:- Option-B

Question25:-A poor man cannot appeal straight to the High Court for redress if the
government appropriates his land without paying him since the

l. The expense for it is too high.

.  The right to property is a legal right.

lll.  The court no longer has the authority to decide on compensation.
IV. The issue is outside of their purview.

8@ 3alEM MABMIB ®MBEO Bal aleMo MTHIOD aROYFOMIG EMAEIS al@la0IEEBIMOWS
66a06HISOIVIBE @Rafled M@0 Elaile).

l. @R@IMS8 621210 AUBSOO &SORIEM.

. IO AUBHIWBo NQWAAIRAIW GRAUEHIUBAIETY

. madai@lanore @lamacmlenom esosailes e @rwle:ooale

V. (@f@o @PAIMOS alGIWIES aJOOmIET
A:-l and Il only
[, Il @0@o
B:-lll and IV only
1, IV ao@o
C:-1ll only
Il ao@o
D:-Il only
Il 20@o

Correct Answer:- Option-D

Question26:-Which the following subjects has/have been moved from State list to
Concurrent list of Indian Constitution as per the 42nd amendment Act?

l. Population control and family planning

[I.  Education

lll.  Railways

IV.  Forests

42-::00 6RBOMI MQAEJHIG SOAMMB EEEMALISMQYOS MeMNIM alFll@d AT &:6rm&:0mc
ellmdlealss’ 20dl@ Qlla@6BRU3 al@o6m?

l. LMATVoEUP MIQQADEMYo B:GoENUITY@EM Yo

. alepepave



.  eowladeq
V. QIMEBRUB

A:-l and Il only
[, Il @a0@o

B:-1l and IV only
I, IV ao@o

C:-lll and IV only
1, IV a0@o

D:-l and IV only
[, IV ao@o

Correct Answer:- Option-B

Question27:-A foreigner who remains in India is not entitled to :
l. Freedom of trade and profession.

II.  Equality before law.

[ll.  Protection of Life and personal liberty.

IV.  Freedom of religion.

0yl @S 6@ Qlleausles SDaIY’ @PAROMmIe].

l. QPAIDEODIMe HMISIRNMYBS TVLIOQD)0

. dwaocoim garlad mvamio

.  oaloooiloos Qe ru@EYOBIe Mc@BHEMo

V. aomuoo@e

A:-l only
| 20@o

B:-lll and IV only
1, IV ao@o

C:-ll only
Il @0@o

D:-l and IV only
[, IV oo@o

Correct Answer:- Option-A

Question28:-Members of the council of ministers include :

l. The Prime Minister, The Vice President and other ministers.
II. The President and other Ministers.

[Il.  The Prime Minister and other Ministers.

IV. None of the above.

2@lreEeal @R.EBRSIT DUBEAIFMMAIA !

l. @WIMAQAY], ©alEIYaI®], 07 AQTI@0d

Il. @IYavlQe ag a@lnods.

. @wom aedlgo. ag a@laod.

V. GAM 0BT AUOIMOALY

A:-l only
| 20@o
B:-1l and Il

I, Hl ao@o



C:-lll only
l 20@o

D:-IV only
IV 20@o

Correct Answer:- Option-C

Question29:-Examine the following statements about India's amendment
processing.
l. Majority of the provision of the Constitution can be amended by the Parliament
alone
either by simple majority or by two third majority.
[I.  Certain amendment can be initiated only by the states.
[ll.  No time-limit has been prescribed by the constitution for ratification of
amendments by
the states.
IV.  There is no provision in the Constitution to resolve the deadlock between the
two houses
of parliament over the amendment of the constitution of the above
statements.
Which of the above statements are correct?
HIMIQYSS CRBND @@1@@@&;0@@@ ©®IOPaOQAM (JTYNIQUNEHUD al@leUodIWIERH.
l.  eceEeMeaisHes @G- QIQIMVAGSo alo@rIeamclm’ @62 RV 6.41Q0M
H9Q. B8BTS fISIMA0Q GElISHUOTIROSEWI @RELIEIEE YaTI®d @6ME
BOlaIEHOBIR)eSEWO
Il.  afler eeBO@IBU MUMLOOMEBRUIED 2O@ED BRYEEIERIM Bl
. aveunomesnRLd EREVMIGUE @R.UIGEIEBIMM@IM EEEMARISM MLAWAIGIUS]
Moo sfigle)
V. gedoss @TYIAUNBSOS BEEMORISM CRENTIOWE 2J0g]l al0deIeAMAlMBEO
EDBTVERSSo ©@aile)8s TPoEMINITIA al@la0@lEH0M BEEMAaISM©II®S 63@3
QIUTUNQRo SDEY
AHSla)8s @TIAUMGEIBE aR@O6TTY (@7

A:-Il and Ill only
I, Hl ao@o

B:-Il, Il and IV only
I, 1, IV ao@o

C:-I, I and IV only
[, 11, IV @o@o

D:-I, lll and IV only
L, 1, IV ao@o

Correct Answer:- Option-D

Question30:-The primary objective of Article 350A is to :

l. Promote the use of Hindi in all primary schools.

II. Safeguard the rights of linguistic minorities.

[ll.  Ensure education in the mother tongue at the primary stage.
IV.  Regulate the medium of instruction at the university level.
@dgleslud 350ag) Qes wowdle eisuo :

l. ag)gf0 66jad] Msselaj a0lml @oaH eJoTRIatlaflene,



Il @oaUd MYMalLHEBEOS @RAIBIUDEERUS Mo LS.
. @owdls caigomlcd ao@eislcd aleioeime 90ajoeRe:
V.  cudqeenueiren @eiomed alom adwide QD6

A:-ll and lll only

I, Il a0@o

B:-1 and Il only
[, Il @0@o

C:-Il, Iand IV only
I, 1, IV ao@o

D:-1, Il and Ill only
[, I, Il @0@o

Correct Answer:- Option-A

Question31:-According to the draft Rules of Greenhouse Gases Emission Intensity
Target (GEI) Target Rukes 2025 how is Greenhouse Gases Emission Intensity (GEI)
defined?
I.  As the total amount of carbon dioxide alone emitted per product.
II. As greenhouse gases emission intensity in :co.e per equivalent output or
product.
lll. As the volume of methane released during production.
IV.  None of the above.
an@B®Yan QO 96 aam dlQo elesy (GEl) sadewng gudamy 2025 meo ees dlonsmrud
@RMMVE] 4] c0@IMYa0 A @@ (GEI) agememwosm dldqalsldlesma?
l.  8m o@ojmodid mlar. 2@ OSSN H0BENIEM HOW 83066@GUIIMBe0
@YEG: @RS8O ag)m MleIlcd
Il. @e@0© 9@BansMODBIERD O@ajmomlead tC0%  aD@IMPYaD QAU
93 QM OIQO® o0 Mleiied
. ©@atoem muaow ojogmalsam dendlBeo @raal agom mleiwiwd
V. geglad aosoma amoagy

A:-1l only
Il @a0@o

B:-l and Il only
[, Il @a0@o

C:-IV only
IV 20@o

D:-1, Il and llI

L, 11, 11
Correct Answer:- Option-A

Question32:-Which of the following statements are correct about Panchayati Raj
Institutions in Kerala?
i The People's Planning Campaign in Kerala was launched in 1996.
ii.  The Indian Constitution under Article 243 provides for the establishment of
Panchayati

Raj Institutions.
iii. The State Election Commission prepares the electoral rolls for Panchayat
elections in

Kerala



CHOSOTOR! ARV OBEIL MNIAIMEBHSERCl4] @IOY AlOQAN YIS aG@IET’ @7
I eaegovion BMSIMY@eM M@ 1996-@ @re.Ely
ii. eaM BEEMALISMWYES @RS 243 @WE0@e AlERIOVOBIEIL MVNIAIMEBRUB
mundallesmaiay’ aiaimun 6.a1Qmo
i, rueunom @leeammga] Gorllaum oo Gleemmgaldudamoal caosd
alSld MQI0IEBMM

A:-Only i and ii
i, il 20@eo

B:-Only i and iii
i, iii 20@o

C:-Only ii and iii
i, iii 20@o

D:-Only i, ii and iii
i, ii, il 00@o

Correct Answer:- Option-D

Question33:-Which of the following is the first e-Literate District in India?
DMIVIOL! @RBIOOD D-TVOGHE®I =) aR@IEM?

A:-Guntur
V6rEd

B:-Jodhpur

GZOWoY@

C:-Malappuram
elod()o

D:-Chandigarh

alemulunowy’
Correct Answer:- Option-C

Question34:-The Aardram Mission mainly aims at :
@OBBo AU (JWIMMIQo LIBUBAISIMDY

A:-Eradication of malaria
ncelolw MIdImIG=RM.

B:-Upgrading PHCs to Family Health Centres (FHCs)
allag) ol Nl®:e8 H:506n106EIWY CH36838085 (af)adag)o]ml) sAC@3

C:-Establishing medical colleges in all district
af)elo Hleisslaje HRIEHTE CHHIEB8BHU8 MuNdallen®d

D:-Expanding private hospitals
TUIBHIEY BROWAI@IBU QlleTUlallendd

Correct Answer:- Option-B

Question35:-The Right to Education Act (RTE), 2009 makes education a
Fundamental Right under which article of the Indian Constitution?

allzyepav @ramIve Tmloa. (@rdslen), 2009 alspepamuecm 6@ avels:01e:00eadEs) 20QMN@Y
MMM BEEMARISNHYES aB® @RABSIESIUB (doD6m?

A:-Article 15(a)
@Aglesd 15(ag)



B:-Article 19(a)
@d5leld 19(ag)

C:-Article 21-A
@RR11uB 2 1-ag)

D:-Article 51-A
@RB3leslud 51-ag)

Correct Answer:- Option-C

Question36:-Which organization in Kerala is described as one of the largest
women's self-help networks in the world?

BHESOMIOAI @ TVCAISMOW GRIGEBINAI a@Q0)e Il QINIMI LI TVANIW (YoaIRIBEITd BIMOW
allewoctllaflesar?

A:-Kerala State Women's Commission
CHOSB MIoMINIM QUMM HAAaHMD

B:-Kudumbashree Mission
BGobNIUD) ailanmd

C:-Mahila Mandal Federation
20080 BEMULMT HANWEOHMD

D:-Kerala Women's Development Corporation
EHE8 QMO Qll&aVM EEHIBAIEOHM

Correct Answer:- Option-B

Question37:-Which of the following program aims to bring children of migrant
workers into Kerala's education system?

&slewg 0o¥lenglnaes &:Slees enosovieal QlaPREPTL MEYBIVOBIERIE) 6E:I6MEAIIND
e1eUelsam al@lalos] ag@moem?

A:-Vijnana Keralam
QllLemom eHHEs6

B:-Jyothi

GO

C:-Thinkal

O N0)

D:-Bandhu
snINY
Correct Answer:- Option-B

Question38:-Which of the following is not a function of the hypothalamus?
@IS AlOQYMAIRI@ oB@EM HEANGAIMRIATVIMO0 @mémmm%omm“?

A:-Regulation of body temperature
WElIEMIAIMIRIYSS MIEDH6Mo

B:-Control of appetite and weight
alleafldene oEEBIMeONQL MEDEM.

C:-Regulation of emotional responses
OOQUBICBIE JOIHEEMEBEOS MWADEMo

D:-Production of melatonin



62216QIMIMEO0 O aldBMo
Correct Answer:- Option-D

Question39:-Which vitamin deficiency is known to cause Pernicious anaemia, a
condition where the body cannot absorb that vitamin due to the lack of intrinsic
factor?

a@® allgodlBe0 &:00)e@06M206m ealdemilaymy’ @paildle  oemeosmM@?

GRADEH CRISEODIMBEO @REINK galo VAIEOIM @R Qllgadlad ERYUIEEM. 6.21YIM B¢lwIT
@RQINLA®IEMID®.

A:-Vitamin B3
allgoalad enfl3

B:-Vitamin B12
allgoallad enfll2

C:-Vitamin C

aflgoailad vl

D:-Vitamin D

allgoglad cwl
Correct Answer:- Option-B

Question40:-Match the disease with their causative parasite.

a Syphilis i Bardetella pertusis

b. Whooping cough ii. Trypanosoma gambiense
c. Plague iii. Treponema pallidum
d Chickenpox iv.  Yersinia pestis

e Sleeping sickness v. Varicella zoster virus
GOINBHO) @AUWYS CEINGIBIWIW nJ(OOGOJmOG)ﬂ OMO@M@H%@@; .
a.  aVladeloy I edecwegal ealdgmilmy

b allejad oo .  eesaemMIETOn NNl
C oY iii.  eseavsmia agflwo

d. aleomdeatogy V.  e@dminlw eaimloy

e Mlafley” Milesemay’ V. QRElemg) EVLITRA HOQIOMY

A:-a-v, b-i, c-ii, d-iii, e-iv
a-v, b-i, c-ii, d-iii, e-iv

B:-a-iii, b-i, c-iv, d-v, e-ii
a-iii, b-i, c-iv, d-v, e-ii

C:-a-ii, b-iii, c-v, d-i, e-iv
a-ii, b-iii, c-v, d-i, e-iv

D:-a-iv, b-v, c-ii, d-i, e-iii
a-iv, b-v, c-ii, d-i, e-iii

Correct Answer:- Option-B

Question41:-Which pollutant is most commonly associated with the formation of
acid rain?
@Y 29QeS @alaosmayaodll agQaje TMIWIEEMIW] cIMWeqsidlesan aailaile.eem airy aR®o6m?

A:-Carbon monoxide and methane
HOBENIEND GAEEMINOER U AR



B:-Methane and Carbon dioxide
dleingo 6NN OO BIEEEUJo

C:-Sulphur dioxide and nitrogen dioxide
MVUBa0AB HOW BIOOEGU HOMSBM HOMW BIOOE:NI0

D:-Ozone and Sulphur dioxide
60GVIEMo (MIUBaNB OB BSOS

Correct Answer:- Option-C

Question42:-What is the name of Kerala government's project aimed to provide free
cancer treatment to underprivileged patients?

aloQUea]s EEIUTEU3ES) MUDEBMY BHOMMVA alldslory M@E:mM@IM cleupiisss emHog MAMIAIMBOO
AlBLTIQOS CaleEMMIEM?

A:-Sukrutham
(rgag,ano

B:-E-Health Kerala

ED-6)aN@IOD) BHOSB

C:-Jeevani Clinics
adlaim] glaslgy

D:-Ayush Keralam
@R QY CHOSBo

Correct Answer:- Option-A

Question43:-Which of the following statement is not correct about photoelectric
effect?

GaN2650IRIE DaNGlOMEBCl] @69 aloQMAIWITE n@@moe WElTT@® ?

A:-Number of photoelectrons emitted depends on the intensity of light
aJOg®AlgoM GaNIESOTDRICLIENOMDEBOS af)sRo (@)BOODIMO0 BNQDMOW @YUV lelesam

B:-Energy of photoelectron is determined by the incident light intensity
GaNJEZIERIEHIETIMOO OB MIBGRWIERM® MMM’ HeRIg Q@I

C:-There is no time lag between the arrival of photon at a metal surface and
the emission of electron
BT GRI00 (JORIOBIBE EGaNdEZIM af DM@ FDRIGERIENM ajo@DAlgmM@Ie. s©il@d Tvaw

snscaisilg
D:-Energy of photoelectron depends on the frequency of incident light
GaN0GZERIEHIMIMBE0 ODADR. MMl BeRIg dleBmileow @rWe@lfldlesar

Correct Answer:- Option-B

Question44:-Energy required to eject a 100 kg space craft from the earth surface is
GWes paldmaioml@d alay 100 sleainwo. @IEYSS B@ MInGIEIBHIU EalSdhe aJOTMSBIM
@R)QUUBYNIQ) ODRLRo

A:-302x1087

3.02x1087

B:-6.05x1087

6.05x108J

C:-3.02x10%7

3.02x10%F



D:-6.05x10%7

6.05x10%J
Correct Answer:- Option-D

Question45:-The surface tension of a liquid varies with temperature as
8@ BOQAUHOTMOO Daldlmal alldlgQan. MoaIMlaiImVEla] A®PIVOAISTT

A:-Surface tension increases with increase in temperature
®oalMlal &SM@IMMIVELL] OalBl®mal all@lgQar. drUlesmM

B:-Surface tension decreases with increase in temperature
®oalmlel &SM@IMMOVEL,] Oaldlmel all@lgQdn. &0

C:-Surface tension is independent of temperature
Daltlmel allelgQdan. ®IaimlaIl@d mlam muim @6

D:-None of the above
cmmﬁﬂomm@@om%

Correct Answer:- Option-B

Question46:-Rocket which is identified as the launch vehicle for Gaganyaan Mission
of ISRO is

EDIVEOIQYOS NNMB@IM BVOBIMOQSS QlledHalem QaOMA0W @Gl gGlenmn COIEHG
A:-PSLV - C36
aflagrVagmdal-ci36
B:-GSLV Mk 1l
&lag)Nag)@al-agees |
C:-HLVM3
af)ajag)@allag)e3
D:-RLV - TD
@RyBag)@dil-slauw]
Correct Answer:- Option-C

Question47:-The process of conversion of a solid directly to its gaseous state is
known as

B0 6l mcr}gnﬂs)m emalg’ @R@IMe0 A@EIAMOTIERIE) alElABEM £.AQYM JBWOW

af)aM’ @RAlWeIFMo

A:-Fusion
aoénsuaa
B:-Condensation

HEMMCIVAHMD

C:-Evaporation
NI @6mMo

D:-Sublimation
cmeggksmoyaa

Correct Answer:- Option-D

Question48:-The major metal component of the alloy Pewter is
oJég(a Q)M GRIDADMVEEOMIMEO (@JWIM GRIdAD “LISdho

A:-Copper



v

6).alMl

B:-Tin
slad
C:-Zinc

v

mJlss

D:-None of the above
cm@%ommawomm%

Correct Answer:- Option-B

Question49:-Which among the following is an example for Lewis acid?
96 0QMAURIB ag@em’ gjailmy’ @rlauslay’ 9B0anem.?

A:-AlCi;
AlClg

B:-g+
H+

C:-(cHs) B
(CH3).B

D:-All the above
emﬁcﬂomm@@%oo

Correct Answer:- Option-D

Question50:-Among the four recently added elements to Modern Periodic table of
elements, the last element with atomic number 118 is

@RUME @RHAIBOTIMSIBIm @RgTDIles caldom moel geismEsglad, @regodle mmid 118 oss
@AUMIIM GPRIdho .

A:-Moscovium
6206mMYoQi@o

B:-Oganesson
63UNEOMAVEND

C:-Nihonium
mleanoemlo

D:-Tennessine
esamailad

Correct Answer:- Option-B

Question51:-There are 10 staff in an office. When a 32 year old staff were
transfered and another joined, the average age was increased by 2 years. How old
is the new staff?

8@ 60adlled 10 eflamenomens. 32 AQSS B I EOEOM LRl 23J] 26QIEIOS
rlaleafoud, EIWE! OWe 2 AUBAHo adavlafly). ojol@ glameomes jowo ) @67

A:-41
41

B:-52
52

C:-46

46



D:-38
38

Correct Answer:- Option-B

Question52:-Find the largest power of 2 that divides
1Xx2x3x%x4xX..... x 29 x 30.

1x2x3x4x..... X 29 X 30 em an@lesm 2 @60 agQaj ALl alaid &eMmRIDE,
A:-22

B:-o2

Ci-o

215

D:-g0

230
Correct Answer:- Option-A

Question53:-0Out of 40 students, 6 are absent in the class. What is the percentage
of students present?
40 allepdodlegcd 6 cad gomilad may. a0omeo alspdade:ges w®adMe f@?

A:-80
80
B:-75
75
C:-85
85
D:-90
90
Correct Answer:- Option-C
Question54:-Find 1012 (1.01)2
(1101 (1o1)?
B6eMgallslend
A:-110.1
110.1
B:-1100.2
1100.2
C:-12.02
12.02
D:-120.2
120.2

Correct Answer:- Option-D

Question55:-Rajan wants to cover the floor of a 16 square meter room by square
tiles. If each square tile is of side 0.5 m, then find the number of tiles required to
cover the floor.

16 a1@ewdlgd almfidapass e Adles @O 2IDEeeSaE:Ud ' RSO EIWM @RYWATlEBMM.



80600 21@eWeeselm. 0.5 dod aegesrel, o gsod vl OOSEIBHEOS af)eTRo ) @7

A:-56
56

B:-64
04

C:-72
72

D:-80
80

Correct Answer:- Option-B

Question56:-Set the odd number out
BQMVo6YY dheNgallsSlend :

A:-25
25

B:-36
36

C:-60
60

D:-81
81

Correct Answer:- Option-C

Question57:-If 28th of a month is thursday then what day is the 2nd of that month?
8@ 20muoilen 28-::0, M® APEILWINMEIT @Y AXTVOTEL! ENEIASDED GlAIMVo aRDY
Alairomoem?

A:-Monday
f:-340)

B:-Saturday
vl

C:-Thursday

QLo

D:-Tuesday
6.2100)

Correct Answer:- Option-B

Question58:-Find the number of right angles turned through by the hour hand of a
clock when it goes from 4 to 10

8@ eHIESMBe0 aemlgad myall 4 go@d 10 e calod:emIoud ag@ QURI® E806MB:03 GIElEBAD ag)ory
HORID H

A:-1

B:-zero
adBYo
C:-2



D:-3

Correct Answer:- Option-C

Question59:-If a motor bike travels 210 km in 5 litres of petrol, how much distance
it will, cover in 1.5 litres of petrol?

8@ 6206503 eemiss 5 alod ealesoglad 210 sleandgd memidless.woesmesod, 1.5 alod
6aleSOgld @D af)@ G@o MVLEUG|EB0 !

A:-68 km
68 s).d.

B:-63 km
63 ®).dl.

C:-80 km
80 #).d.

D:-74 km
74 &).4.

Correct Answer:- Option-B

Question60:-Find the next term in the given sequences.
ADX, CHV, ELT, GPR,

M@BDBlEBN cUEMIGElDRlI BRSO alBo dNgallSlend: :

ADX, CHV, ELT, GPR,

A:-ITP
I'TP

B:-HJN
HJN

C:-INF
INF

D:-HXS
HXS

Correct Answer:- Option-A

Question61:-The number of errors in the report surprising, but a variety of
solutions been proposed to address them.

A:-is, has

B:-are, have

C:-is, have

D:-are, has

Correct Answer:- Option-C

Question62:-Select the correct option for the sentence :
Mount Everest is known for being highest peak in world, but
climbing it requires extraordinary effort.

A:-No article, the, the, an



B:-The, no article, no article, an
C:-No article, no article, the, an
D:-The, the, the, no article
Correct Answer:- Option-A

Question63:-Select the correct option for the sentence :

The instructor advised carefully before attempting the advanced
technique in practice.

A:-to plan, to master
B:-planning, mastering
C:-to plan, mastering
D:-planning, to master
Correct Answer:- Option-D

Question64:-Select the correct option for the sentence :

While the engineers the prototype, they discovered that the materials
under high pressure.

A:-were testing, had failed
B:-tested, failed

C:-have been testing, were failing
D:-are testing, fail

Correct Answer:- Option-A

Question65:-Which option correctly transforms the active voice sentence into the
passive voice, preserving the original tense and meaning?

Active : The lead scientist would have finalized the experiment's parameters if the
funding had not been cut.

A:-The experiment's parameters would be finalized by the lead scientist if the
funding had not been cut

B:-The experiment's parameters would have been finalized by the lead
scientist if the funding had not been cut

C:-The experiment's parameters had been finalizing by the lead scientist if the
funding was not cut

D:-The experiment's parameters would have been finalizing by the lead
scientist if the funding hadn't been cut

Correct Answer:- Option-B

Question66:-Select the most appropriate synonym for "recondite" in the sentence :

The scholar's lecture on quantum mechanics left even the advanced
students struggling to grasp the concepts.

A:-Abstruse

B:-Great

C:-Arcane

D:-Occult



Correct Answer:- Option-A

Question67:-Choose the one-word substitute that best replaces the phrase "a
person who is excessively concerned with minor details or rules" in the sentence :
The editor's reputation as a delayed the project due to her insistence on
perfect formatting.

A:-Pedant
B:-Fundamentalist
C:-Purist

D:-Martinet

Correct Answer:- Option-A

Question68:-Choose the correct spelling for the word in the sentence :
The scientist warned that neglecting the issue could the environmental
crisis.

A:-exaccerbate
B:-exaserbate
C:-exacerbate
D:-exasserbate

Correct Answer:- Option-C

Question69:-What does the idiom "to burn one's bridges" mean in the sentence :
By publicly criticizing the company after resigning, she burned her bridges with
potential future employers in the industry.

A:-To make a bold move to start anew

B:-To eliminate possibilities for future reconciliation or return
C:-To take a risky action to gain attention

D:-To sever ties temporarily to focus on new opportunities
Correct Answer:- Option-B

Question70:-Select the correct compound word to complete the sentence :
The architect's innovative design for the structure won accolades for its
sustainability.

A:-eco friendly

B:-ecofriendly

C:-eco-friendly

D:-ecofriend

Correct Answer:- Option-C
Question71:-oe¢ omldlesmaicd wEIWIW AlGEam?

A:-@nedlom

B:-afluomo

C:-woguailsoe



D:-goemo
Correct Answer:- Option-C

Question72:-wdlwoiw anseea?
A:-roememoml@ ofee3uoe GREMRENIB0 Cald aleBHSED
B:-aanosoaieesomenglaisiegslaj 2aa0060le@mosm’ &n0emaudm @RGlea]smay
C:-car0elmysoemen Ma0dweomIes MAElMwIw QaTlow @O WG Qleaiomilg)
D:-allanaoomsiioe @emernamuoa@ile:ud @einatetaloeal allgmi
Correct Answer:- Option-B

Question73:-'No objection certificate' agommaldeo aeiosai@cow :
A:-rleoestialmumynioesyels
B:-sniowimeadl® muossial@o
C:-msaymuosse i@o
D:-reoessalaruodmai@o
Correct Answer:- Option-D

Question74:-8gqzea8D®; :
alo@malm

A -eaJousm

B:-aiemoal

C:-eyoflod

D:-wesoal

Correct Answer:- Option-B
Question75:-me¢ alomMmaicd GeEIIQeSs alepPWearm?

A:-@paiesm

B:-eanunao e

C:-@rownmad

D:-@recomomd

Correct Answer:- Option-B
Question76:-omdesmm oMo alaCleeng®e - MVano

A:-allemoe

B:-aflak

C:-endoedlmo

D:-@ryanmo

Correct Answer:- Option-C
Questi0n77:-'_rgmgdmos' af)M eewelyes @rdmNeam?

A: -~ @M OQUUB D IRIMIA(MIo



B::-snieindlaym

C:- ganfemogss alleeowo
D:-@padiasallsom eapano
Correct Answer:- Option-A

Question78:-aquaomalBe &6
e

A:-ojeamoso

B:-eemalaisss

C:-owad

D:-a@lgemo

Correct Answer:- Option-C

Question79:-aflel.nwesnoags,
&all

A:-sa@)

B:-sail@)

C:-aalo)

D:-sailol@)

Correct Answer:- Option-B
Question80:-qym®6nie0 QLN EBIBEINOEMALI T ED® ?

A:-@paideud

B:-eeqicyd

C:-momud

D:-@reupalsed

Correct Answer:- Option-D

Question81:-Which section of the Abkari Act empowers the investigating officer to
file a final report (charge sheet) is Abkari cases before the Honorable court
concerned.

@RENIHIE] CACTIEA! aB® Qld:n 06 @REMIAHEM HEEPWTVAM NIEOAIMOA]S CHISOIVIGS @RI
3160jodS’ (©:Q0f@o) DM 621 @OUIB:00 M@BB:AND?

A:-Under Section 40(2) of Kerala Abkari Act
GH8 @PNIG:IG Mlwacoleal emueHmd 40(2) oo

B:-Under Section 48 of Kerala Abkari Act

CHES @REMIG:IE] Mloaoleal Ve 48 «Jooe0

C:-Under Section 50(2) of Kerala Abkari Act
CHE8 @RMIG:06 Mloaomlea aamuesad 50(2) «weoe.

D:-Under Section 41(1) of Kerala Abkari Act
GOS8 @RNIG:IE Mwacmleal emueHmd 41(1) .

Correct Answer:- Option-C



Question82:-Which of the following statement is/are correct one :
(i) Abkari officer holding inquiry under Abkari Act may summon any person to
give
evidence.
(i) Abkari officer holding inquiry under Abkari Act should be obtained a prior
Sanction
from the superior officer to Summon any person to give evidence.
(iii) Abkari officer holding inquiry under Abkari Act shall summon any person at
greater
distance from the usual place of residence.
(iv) Abkari officer holding inquiry under Abkari Act may not summon any person
to give
evidence.
@IOLOQYM (@JTYIQUMNBEI®B aR@I6M Uo@1?
() @RMI®OEl MlwaEihi. G@REMIAHEM. MSTDAN @RENG:IE HEEPUMNM’
aRO®IT AUBTIlOQ HOEIN] MM Qg gjaimomos
(ii) @RMIB®:IE MaEIG:IR @REMIAUEM. MSTBDAN @RENIG:0@] OEBLRWAVAT
aBOO®BIej UETIOQ HOSIQT MM@3E0M m’lg’l_r%m@@m@'lm“
622JeBPUNMAMITE Mo’ gB&@ @RMRAM QUI6EREMo
(iil) @RS00 @R (@00 @REMIaHUMo MSTDM @RENIB:0@ B0adlru@des
MLOWIPEM MIATVINVORIOT MMM BSOT CRHELIQYSS aBOMIT AUBTINW Qo
allg] yauomonymmosm’
(iv) @o6nie:0@l @R @d:0os @REMIAHEM. MSTBM @RENIEIE! Boadlrudes emglal
@M @RYOEEQR. Al gjamomond alosle)

A:-Only (i) and (iii)
(i), (iii) @0@o
B:-Only (iv) and (ii)
(iv), (ii) @o@o
C:-Only (ii) and (iii)
(i), (iii) @0@o
D:-Only (i)
(i) 20@o
Correct Answer:- Option-D
Question83:-Whenever makes any arrest and Seizure under NDPS Act, a report of
arrest and Seizure should be submitted to the immediate official superior within

af)BWlallagV’ @O @@ aBe®BI)0 Gelelsably allsle gigamaje Ms@@EMINUE, @ROMYIMeOW.
allsle gigmelmeoqe dleajods osms] peaRHRMMIN GaWOOllEs maslod ruadaflenemo

A:-72 hours
72 oemgsd

B:-24 hours
24 pemlgsd

C:-48 hours
48 nemlgsd

D:-12 hours
12 aemlesad

Correct Answer:- Option-C



Question84:-Who is the Zonal Head, which comprises four/five districts, in Excise
Department
)OOV Qldaflerl moel/@rsmal elae:almd ©uBegaM EIVLOIMT@ B0 @REIEM?

A:-Deputy Excise Commissioner
e)cwm%g"l 2f)OOERMY HHadlauern@

B:-Additional Excise Commissioner
@RAWIaHEM@ af)OOERMY Eadilauernd

C:-Joint Excise Commissioner
6200’ af)OOEGM dhadtlauernd

D:-Assistant Excise Commissioner
@RMIIMRMO af)eOEMY dadlauernd

Correct Answer:- Option-C

Question85:-Statement of a summoned person under Abkari Act recorded by an
Abkari Officer

@RENIGHIE] MAEIB:I TUAMIY @R 4| ABTIQS @TROQUM BE@ @RENIG:IE] 30adlTVA CEAIENIFTDAMN®Y

A:-Under Section 44 of Kerala Abkari Act

CHES @RMIGIE] Mloaooleal e&auesmd 44 o000

B:-Under Section 40 of Kerala Abkari Act
CHES @RMIGIE] Mloaomleal e&auesad 40 o060

C:-Under Section 46 of Kerala Abkari Act
CHE8 @RMIGIE] Maomleal HTVEUMD 46 @d0®0

D:-None of these
@O.IG)@)O(TTO%;

Correct Answer:- Option-C

Question86:-Which of the following statement is correct about on "Every person
arrested under Abkari Act should be produced without unnecessary delay before."
(i) The Abkari Inspector

(ii)  The Deputy Excise Commissioner

(iii)  The Assistant Excise Commissioner

(iv)  The Officer in-charge of nearest-police station.

"' @ReNIB:06] MlnE)6:000 BROTY ©.2IYen|S BICEI AUBTIOQQRL @BMICIDY BIRICIATVAILIE
EDQIBEHYMT a0IWEIEHEMo' og)(m@'le)mfﬁsao'l_od@g @IOPOQAN JTPIQUNESIOB BT @17

(i) @P6NI©:00] DMETYEA

i) OWals] aeORMY dadllaxemad

i) @RlaRMd ageegmy’ @:adflausmad

iV) @pgooss canellmy CIRAUMBOO JOOLIYSS DEBPUNMVOM

A:-only (i) and (ii)

o~~~

(i), (ii) oo@o

B:-only (ii) and (iv)
(i), (iv) @o@o

C:-only (iii) and (i)
(iii), (i) 20@o

D:-only (i) and (iv)
(1), (iv) @0@eo



Correct Answer:- Option-D

Question87:-Abkari inspector can bailout any person accused of commission of an
offence punishable with imprisonment which may not extend to

@sal Wle RIElEHIQYIN BB HQBHM §2RMOIWV] @REEIANEEAFIM GO QAUBTIOWQ. @ENIH:0E
OMBOTVHALH) 20D QSO B FlQe, @Y M50 alosle)

A:-5 years
5 aidasto

B:-3 years

3 QIBao

C:-8 years

8 auBasto

D:-4 years
4 @avo

Correct Answer:- Option-B

Question88:-Which of the following registers should be kept and maintained in
excise range offices?

(i) Toddy shops licence register

(ii) Process register

(iii) Abkari old arrear register

(iv) Crime register

)OO 06l 30adlNYHET @6 AloQMAIRI@ @M TYBUEERDo al@laloalcsmemr@aiw
oelyQeud?

(i) S8geUa] ©eRITLMMY eelayd

(i1) BJouay’ e=laud

(iii)  @EPMIB:OEl ale® @Sl eslaud

(iv)  eo@o. o=layd

A:-only (i) and (ii)
(i), (ii) oo@o

B:-only (i) and (iii)
(i), (iii) oo@o

C:-only (ii) and (iv)
(i), (iv) @o@o

D:-only (iii) and (iv)
(iii), (iv) oo@o

Correct Answer:- Option-C

Question89:-Which of the following statement is/are correct about permits for
transport of liquor under the kerala Abkari Act?
l. Permits for the transport of liquor may be issued by the excise commissioner
or by any

person duly empowered in that behalf
I. There are two types of permits one is general permits, second one is special
permits as

per Abkari Act.
lll.  Every permit shall specify the name of the person authorised to transport
liquor.



IV. Every permit shall specify the period for which the permit is to be in force.
GHES @OENIH:IC] @R (JHIBo BB OB:IEMEAIBMDIPSS amt&m’lg@;a@mcﬂgj @IOPaOQM
@MIAUNBEITB a@@moe’ Kd!?
l. 2B OBINZEAIIB:MTIPSS acu(am%(gce:ua af)OOTY HRlUMBELHO
@ReEled @o@Imoe] ndaluwl GRWIH:0e6ST® agemEsaje QEMIEEnI
M @30
II. e oocoviess @mtﬂm’lg@;gm@“ B0m’ |BMOTD @mtﬂm%(gcﬂagoem”, @6NRODCD®
@RENIGHIE] @R (B0 ETVAULGE am@m’]gtﬁa@osm”
lll.  &6ed eaiddldlaj. aB% ©E:06MEA1E:0M @RWIB0EeWSODIW QleilQes
Gal@ QIIBAIEHEMo
V. &0ce0 6adaldlaje 6aidalg @osneiomlad s @:0eisal QIemacsnems

A:-Only l and Il
[, Il @0@o

B:-Only Il and IlI
I, I @a0@o

C:-Only Il and IV
[, IV ao@o

D:-All of the above
GRAMAJOEOAUSWEIo

Correct Answer:- Option-D

Question90:-Who has the power to withdraw establishment stationed at the
distillery under the Kerala distillery and warehouse ruler?

eH0e8 Wlmileclgesge 60D Q8Qese @lflgss aslmileidlolod mundalylgss mundaime
afldaielendm @rydemo6m @oUWlE:0@0 7

A:-Deputy Excise Commissioner
s)cwcuégﬂ af)OOEMY HHadlaueN@

B:-Joint Excise Commissioner
emOIMA af)OeOGITY HHasllaU6rnd

C:-Excise Commissioner
af)OOGTY Ha0lauend@

D:-None of the above
G(Dﬂ(HOGTGTZDO.IG)@O(TTb%J)

Correct Answer:- Option-C

Question91:-Which of the following statement is/are correct about Beer as per the
Brewery Ruler?
l. Beer means any liquor prepared from malt.
. Beer means any liquor prepared from grain with or without the addition of
sugar and
hops.
lll.  Beer includes a/c, porter and stout.
V. Beer is a fermented alcoholic beverage
el Q83 @00 nlLCloMERTl4Ss ®IOPAOQYM JTRIAUMBEIBE aB@I6M’ wa@l?
l. 20U35l@3 MM @®INIHIW ABEOMXIEM NIA )M alOQYIMN@
Il. AlERUTVORWJe EaDIglo GalBEOMO GBEPEMEWO WIMDBI@S mlam
OQI0IEHIQ 3oeM NIA
. enldlad ag/mi], calodsd, quos agamilal 9Beajgme



V. nlad 8@ ojglaflal acmoey

A:-only [ and Il
[, Il @0@o

B:-only Il and Il
I, 1l @a0@o

C:-only lll and IV
[, IV ao@o

D:-All of the above
GRAMAJOEAUSHWEIo

Correct Answer:- Option-D

Question92:-What is the residue left on straining off wine after completion of the
process of fermentation?
ofFln]e® ESIQ oJBOTIEIW cUBnHe Qfle @PREIE4ISEREMINUB BRAIEUBAHIERIM @RAIGIYe ag)IEM?

A:-Must

2R
B:-Lees

v

aflory

C:-Raisins
96MER Q@I

D:-Young wine
0o Qfleroy

Correct Answer:- Option-B

Question93:-Who among the following officers in excise department can make
search in houses without warrant?

l. Civil Excise officers.

Il.  Preventive officers.

[ll. Excise inspectors.

IV. Assistant excise inspectors.

af)OOGIV Qldaflonl @IOY al0QM HEBHRUMIVNGIGE @RAREMIEM AoEePeE® Allg@ealnd al@leuowm
MSOMOMB B ?

l. milall@d ageegm’ aoadlcudadd

. @lamddal soadlcudadd

. ageegmy snmdemyadadd

V. @pailapmo’ ageegmy’ snademyadncd

A:-l1 and Il
[, 1l

B:-only Il and llI
I, Hl a0@o

C:-ll, lland IV
I, 1, 1Iv

D:-1, 11, Il and IV
L1,V

Correct Answer:- Option-C



Question94:-Who among the following Akbari officers can enter and inspect place of
manufacture and sale of liquor under the Kerala Abkari Act?

l. Preventive officers

Il. Assistant Excise inspectors

lll.  Excise inspectors

IV. Deputy collector in Revenue department

GHOS @RNIBHIC] @R @I MINY AlOQAN @RENIB:IG! B0adlTUBAIEITS @R)BLHIM AGY
MBedflEBMm®o AlBEBIMDo al@lEURIWIERIMS Bl ?

l. amddal @oadlorudaod

. @RIV af)OeEM SmMeTVERB@0A

. cpoegmy omemyepdadd

IV. OQIMy Qldsafloel a(wmgg'l SRR

A:-Only I and Il
[, Il @0@o

B:-Only Il and Il
I, 1l @a0@o

C:-llland IV
1, 1v

D:-1, 11, Il and IV
L1,V

Correct Answer:- Option-D

Question95:-Which of the statement is true?
RO (JTRIAUMWIET UoEI?

A:-All Abkari officers are bound to give information about Abkari offences to his
immediate official superior
af)ald @RENIG:IG! HEBPRUMVNM. GRENIE:0E! oesg@@gmagmcﬂ%gg QlQIeERU EPAIMES HMISSLDSS
OCBPUMIA GRRJEBLOWNMVAN M@ ETUIWIMVNIETY

B:-Preventive officers in excise department are Abkari Inspectors
)OO aldaflenl flaiddlal’ soadlrudacd Grenie:o@l mea e @ad@o6

C:-All government officers other than an Abkari officers are not be bound to
give information on Abkari offences to an Abkari officer
@RMIH:0A] B3oadlMdRId BYlODHWSS af)ed MVBE:IB PEBPUMVOTE @VNIBH:IA] BHQDOIBROSERC9JSs
aflaieanud B8@ @RENIE:VE] 630adlTVAEE MIIHOM ENIDWITLNGE

D:-All statements are correct
)50 @JTROQUME:S0 UoEIWI6TY

Correct Answer:- Option-A

Question96:-Under the Abkari Act, section applicable for offenders may be arrested
and contraband liquor, vehicles, etc seized without warrant in a public place?

@RENIIE] MHAEIB:I@, B:QAIISIHUBEE NIOWEHRIW STVHU (@0@0, QUOIOENE EDLIOED®
£al@IUNAIE MlAT AG, ADAOMEERUT YOOI @ROMY ©alQ0Mo allSle 4|00 &¥lQ0
A:-Section 31
eauesd 31
B:-Section 32

eTLEHMD 32

C:-Section 33



eomuesd 33

D:-Section 34
emuexm 34

Correct Answer:- Option-D

Question97:-How many regional councilling centres are working under the vimukthi
mission now?
allgem dlameo ¥l eajourd af@ Sleflosmad evsmadlel.ty’ arumoge:ud «adomilesao?

A:-2
2

B:-3
3

C:-4
4

D:-5
5

Correct Answer:- Option-B

Question98:-What are the main objectives of the Nerkottom committee among the
following under vimukthi mission?
l. Prevent drug activities inside and outside the campus.
[I.  To monitor and conduct anti-drug activities.
lll.  Promote awareness regarding the side effects of drug use.
IV.  Monitor and conduct several community extension activities regarding anti-
drug.
allgemi sooyosin Sl¥le)ss emdeEnIge HMIGIQeS WM LIBHUEBRU afETDIOEWIET?
l. B PMNIMBHEDo JOTDo AW EBATM (JAUIBOMMEBRUB BSWY B>
. aossemar dlaey eadoomased MlElealeReqe MSED®:®R0 6.aIQ)d
. 2ssa@mm ©acINOBIME0 al0@UBIn0LIERESER0lYSS GRAICENIOW.
B(o@TVIC I lER S
V. aosesamm’ alaeuqaod] snimweqs mleaids] @m&rﬁ]gﬂ Qllojefleeem aIdemMEBRU3
WISl EBHQo MSADHQo 621>

A:-Only I and Il
[, Il @a0@o

B:-Only Il and lli
I, 1l a0@o

C:-Only lll and IV
1, IV a0@o

D:-Only I, II, Il and IV
L1, 1L, 1V 20@e

Correct Answer:- Option-D

Question99:-If anyone dishonestly uses another person's credit card number or
password, be commits an offence of

26:Q0EIBHS GG H0BUY MMICOI aldEMVIBEUI MVBITMMWOWIZIEO® @VEEER) DaleIUSl 9w,
@RI )M BQHHOOBTIT DU So-



A:-Cyber stalking

OTVENIAB TYILloUY

B:-ldentify theft

£af WG cadadlens

C:-Phishing

alladHloy’

D:-Cyber Bullying

66aeNId Elauemlen|gomad
Correct Answer:- Option-B

Question100:-Which among the following statements are TRUE about the
information Technology Act, 20007
i. Section 66A is declared as unconstitutional as it violates Art. 19(1)(a) of the
constitution

of India.
ii. Power to investigate cyber crimes is rested with the deputy superintendent of
police.
iii. The offence punishable with imprisonment of three years shall be bailable.
2000-0a1 paBandeanum esegoss] ERERIEMERTlYBS @IOPAORYM QIYIAUMBE® oF@6T (od!?
. ooy ceemecism@es 19(1)(ag) ada] elcelesmailmomd emuesmd 66qg

@E6eMARISMI QllGBELAIOMN (Jeuldallgfl@lesmm
i, eemmad &:QoH®EERUd @REMIEIMmes @UlB:000 om)cuég'l catoaflmy’

MeJerElmoil@less
i, g0 ada msal wWles LIElEROQIM Qo 2300k LIEERINM®IWElER.
A:-i and i
i, di
B:-ii and iii
ii, iii
C:-i and iii
i, iii
D:-i only
i 20@eo

Correct Answer:- Option-C



